
Front and back rack mount for 
the LiveCore-based systems

Two rack kits are supplied with the device:
• Front ears (Ref: 180469)
• Rear rack mount rail (Ref: 180489)

(Compatible with the following devices: NeXtage (all references), SmartMatriX Ultra,  Ascender (all references),   
LiveCore™ Output Expander (all references)

SCREWS SUPPLIED
16 x M4x10

CAUTION!
Mounting using only the front rack ears is sufficient for fixed installations. Additional 
support, such as the rear rack support or slide rails, is required for mobile applications, 
and recommended for all.

To install the front ears:

Simply screw ears on each side of the device using 2 screws M4x10 (included), then place your unit into the 
rack and screw the ears on the rack (screws not provided).



CAUTION!
Make sure to provide an adequate ventilation for the device. When you install it into 
the rack, make sure no ventilation holes are blocked. The air intakes by the front panel 
and exhausts by the back of the unit.
Make sure that the rails will pass through the back ears by the minimum of 15mm/ 
0,59 inch

To install the rear rack rail:

Once your unit is installed into your rack, please use 4 M4x10 screws to put the rear rail on each side of the 
device. You will find on each side 4 holes where the screws can be put into.
To screw the rail to the rack, you need 2 screws on each side, those screws are not included into the package.
A lacing bar is available in the rail mount pack. Install this bar anywhere between the two rails using 2 M4x10 
screws. Choose the right distance according to your cable position. Then you can use tie cables to maintain 
your video cables on this lacing bar.


